www.hydrootvet.ru

2-way Logic Cartridge Valves Directional Function

Model: LC...7X (logic cartridge valves)

LFA...7X (control cover)

Function description, sectionaldrawing

Component size

Logic cartridge valvesimodels and specifications

Technical parameters
Characteristic curve

Characteristic curve for throttle selection
Ordering code for throttle

Valve fixing screw

Control cover "D"

Control cover "H."

Control cover "G"

Control cover "R" and "RF"

Control cover "WEA" and "WEB"
Control cover "WEMA" and "WEMB"
Control cover "WECA"

Control cover "GWA" and "GWB"
Control cover "KWA" and "KWB"

www.hydrootvet.ru

02
03
04
04-05
06
07
07
08
09
10-11
12
13
14-15
16-17
18-19
20-21
22-24

0841

£\ TMAPOOTBET

AOCTYMNHas ruapasnmka

@ Size 16/63
@ Maximum working pressure 420 bar
@ Maximum working flow 3000 L/min

Features

@ Valve poppet with or without
damping nose

@ 2 area ratios

@ 4 types of springs

@ 4 stroke limitations

@ Control cover with integrated seat
valve

@ Control cover with integrated
shuttle valve

@ Control cover for set-up of
directional spool valves with or
without installed shuttle valve
@ Control cover for set-up of
directional seat valves with or
without installed shuttle valve

www.hydrootvet.ru



www.hydrootvet.ru

Function description, sectional drawing

The 2-way logic cartridge valves are designed as components for
integrated blocks.The main valve component with oil ports Aand B
is installed into the control block in a receiving hole standardized
according to DIN ISO 7368 and closed with a cover. In most cases,
the control cover is the connection between the control side of the

X
main valve component and the pilot valve. XF-r-==7
. . . . |
By control with respective pilot control valves, the main valve X !
component can be applied for pressure, directional and throttle
B Model LFA...D.../FX

functions or a combination of these functions. The special
economical structural designs can be achieved by matching the size A
of various flows of the valves and the actuators. If the main valve
component can undertake more than one function, the special
economical structure can be achieved.

A E
Model LC...B.../D...

Directional function

The 2-way logic cartridge valves generally consist of control cover
(1) and cartridge element (2). The control cover contains control
holes, optional stroke limitation according to function, hydraulic
control directional seat valve or shuttle valve. In addition,the
directional spool valve or directional seat valve can be installed 57
onto the control cover. The cartridge element mainly includes valve

sleeve (3), adjustment ring (4) (only applicable to size 32), seat valve

(5), optional damping (7) and reset spring (8).

A11100%

&
f
R A2 1 7%(50% )
/

77 A3 1 107%(150%)
Function

The function of 2-way logic cartridge valves depends on the
pressure. Therefore, there are three important pressure-bearing
areas Al, A2, A3 for actuation of the valve. The area of the valve seat
Al is taken as 100%. Depending on the type, the annulus area A2is
7% or 50% of the area Al. Therefore, the area ratio Al:A24S either
14.3:1or 2:1. The area A3 is equal to A1+A2. Due to the different area
ratios AL:A2, the annulus area A2 is also differént. The area A3 may.
be 107% or 150% when 100% area at seat AL.

a0 N W

Basic application AL1100%

The areas Al and A2 are operated in the opening direction. The area
A3 and thespring are operated in the closing direction. The
effective direction generated by the combination of the opening
and closing directions determines the position of the spool of the
2-way logic cartridge valve.

The oil can flow from A to B or B to A through the 2-way logic
cartridge valve. When the area A3 is compressed by the pilot oil of
channel B or external pilot oil supply, the channel A is closed
without leakage."

A2 1 7%(50% )

Size 40 to 63

0842

www.hydrootvet.ru

A3 1107% (150%)

Component size

Control cover and installation hole according to ISO 7368

Size unit: mm

; 72
, i |
4X D5;H4 L310.2

1440.2| L440.2

Size 16to 63
[L]w[8]
2 wonn”
R ODIHT” ®D7H13;10
AlES ST
E © 1
0.8 ©
! - R L N
T : s|S
o IS 7 Elb
|2 N ~ R
=3 ‘ e ‘ S|~ :' =
e 7 3
[ T B ‘XC_) 7 ©o| T H
| \ B \45\} g / T T i
3 e
/ AL s
3 2 4 ®D2 71 ®D6mMax
ODAHT / (X Y.Z1.Z2)

wocpthoffit Size | 16 | 25 | 32 | 40 | 50 | 63
2 Reference dimension
31If the diameter of port Bis not ® D3 $B§ ié gg gg 18 gg 16230
or (®D37),then the distance from ®D3 16 25 32 40 50 63
the cover support surface to the D4 25 34 45 55 68 90
center of the hole must be calculated. D5 M8 M12 M16 M20 M20 M30
4 Port B can be installed around the gg? i g 2 160 180 22
central axis of port A, but it must be H1 34 44 5 64 i) 95
ensured that the installation hole and (H19) 29.5 40.5 48 59 65.5 96.5
pilot hole are not damaged H2 56 72 85 105 122 155
: . H3 43 58 70 87 100 130
5 Locating pin hole Ha | 20 | 25 | 35 | 45 45 | 65
6 The length L1 (x-y axis of the hole) of H5 11 1 13 15 17 20
the control cover (with directional H6 2 2.5 2.5 3 3 4
valve) is 80mm for size 16. HT7 20 30 30 30 35 40
71fD < 45mm, H8 is allowed to be :g 025 2'15 %g 235 245 g
installed. L1 | 6580 85 102 | 125 | 140 | 180
2 46 58 70 85 100 | 125
L3 23 29 35 42.5 50 62.5
L4 25 33 41 50 58 75
L5 10.5 16 17 23 30 38
W 0.05 0.05 0.1 0.1 0.1 0.2

0843

www.hydrootvet.ru



www.hydrootvet.ru

Logic cartridge valves models and specifications Technical parameters

‘ LC ‘ ‘ ‘ ‘ T x ‘ [ ‘ ' ' 2-way logic cartridge valves-directional function
| Thocodes o NBRses Sz
W V= FKM seals Area Model 16 25 32 40 50 63
size 16 =16 (consult for other seals) } LC.A. 189 | 426 | 679 | 1.1 | 1963 | 302
size 25 =25 M o LC..B. 266 | 573 | 951 401585 | 2642,| 41.8
size 32 =32
size 40 =40 = 70 to 79 series A2 o LC.A.. 0.95 1.89 3.39 5.52 8.64 14
size 50 =50 (70 to 79 series installation and LC..B.. 0.18 0.43 0.67 1.07 1.85 2.90
size 63 =63 connection size unchanged) . o LC.A.. 2.84 6.16 10.18 1| \16.62 | 2827 | 442
area ratio 2:1 =A £= valve spool without damping nose LC.B.. 284 | 616 | 1018 | 1662 | 2827 | 442
(annulus area=50%) D= valve spool with damping nose Stroke  cm LC.E.. 0.9 117 14 L7 21 23
arearatio 14.3:1 =B LC..D.. 049 1.17 14 1.9 2.3 2.8
(annulus area=7%) 00=" cracking pressure approx. 0 MPa (without spring) ‘ C.E. 756 791 143 283 504 102
05= cracking pressure approx. 0.05 MPa Pilotvolume cm? Ch. )56 791 143 36 5.0 14
10= cracking pressure approx. 0.1 MPa Theoretical pilot LC..E.. 154 433 86 170 356 612
20= cracking pressure approx. 0.2 MPa Flow Y (/min) LC.D. 154 433 36 190 390 744
40= cracking pressure approx. 0.4 MPa Weight kg . |LogiccartridgevalvesLC| 0.25 0.5 11 19 39 72
LC..A00.. 0.02 0.02 0.05 0.05 0.05 0.07
LC.A05.. 0.35 0.35 0.36 0.35 0.37 0.31
Cracking pressufe Lcat0. | o070 | o | o712 | 071 | 067 | o6
bar LC..A20.. 203 | 218 | 212 | 202 | 201 2
Valve spool without damping nose Valve spool with damping nose LC..A30.. — —_ — — — —
Xi Xi Xi Xi LC..A40.. 3.50 3.90 3.80 4.0 4.11 3.8
LC..B0O.. 0.01 0.02 0.04 0.04 0.04 0.05
B Area ratio B Arearatio |B Area ratio B Area ratio Direction of flow LC..B05.. 0.25 0.26 0.26 0.25 0.28 0.23
AL:A2=2:1 AL:A2=14.3:1 AL:A2=2:1 AL:A2=14.3:1 AtoB LC..B 10.. 0.49 0.50 051 051 0.48 0.47
A Type LALE./. A Type ..B.E./. A Type ..A.D./.. A Type ..B..D.../... LC.B20. 144 162 150 144 15 15
LC..B 30.. — — — — - —
LC..B40.. 2.48 2.90 2.70 2.86 3.05 2.8
- v J LC.A00. | 004 | 005 | o1 | ol | ol | o4
LC..A05.. 0.69 0.78 0.72 0.7 0.84 0.68
Maximum | without directional valve  bar {420 LC.A10.. 1.38 1.53 1.42 1.43 1.47 1.37
working portA, B, X, 71,72 bar' |315;350; 420 (dependent on the attached directional valve) Cracking pressure LC.A20.. 4.05 491 4.25 4.06 4.57 433
pressure portY bar | Depending on the return oil pressure of the directional valve bar LC.A30.. - - — — - -
brossure medium Mineral oil - for NBR seal or FKM seal LC..A40.. 6.96 8.74 7.6 8.05 9.34 8.15
Phosphate ester - for FKM seal LC..B00. 0.24 0.25 05 30654 05 0'28
Pressure medium temperature range °C ~301t0 +60 (NBR seal) Direction of flow tg: 2(5) 34612 63(;49 iii 7'37 2:2 26;
-20 to +80 (FKM seal) BtoA S . - - - - .
Viscosity range mm?/s |2.8 to 380 tgs §8 213 215 216 209 214 209
Cleanliness of oil lTShg 4ng8:£§0“7“1§711€5§°'l“t'on levelofolis LC.B40.. 366 | 383 | 386 | 415 | 436 | 394
UThe oil must meet the cleanliness degree requested by the components in the hydraulic system.
Effective oil filtration can prevent failure and increase the service life of the components.
0844 0845

www.hydrootvet.ru www.hydrootvet.ru


Александр Акулич

Александр Акулич


www.hydrootvet.ru

Characteristic curve Characteristic curve for throttle selection

(Measured when using HLP46, 9 =40°C % 5°C)

> oil

Throttle - ®mm

400 Of} 0}6 0.708 10 %.2 1[5 lASIZO 2530
Without damping nose 30 SAF S F =y 35
10 10 a1/ / T w ZZ L7 Zs "
R A AV SRRRRY c Zrzar i
— 8 / / - 8 / 4 9 ya ya 7 6.0
8 / 3 8 / 3 2 y4 /l 7/ /I /l
o o A 10 ra A S Thread | Throttle- ®mm
< / / / = / 1 5 7 KA PAy.ey. 80
§ 6 / // ; 6 3 4 7 - V. "4’ I""’ '1’ / a
g /, g g % // 7 NS/ e i/ M6 0.5t03.0
= / / = / / o M 4784 DA Ay S vAm sy v Zv8 05t04.0
5 pd = / r 2 o & A& Ao aw K R3B | 081060
4 = 05
s AL g, SN NS A S R2 | 10t080
e p 8%l = / 005 01 02 05 2345 10 15 20304050 100
=) ~ o
. 4/// . 5/:///, Flow rate (L/min)=>
200 400 600 800 1000 1200 1000 2000 3000 4000 4750
05
Flow rate (L/min)— Flow rate (L/min)—
1Size 16 4 Size 40 A
3 Size 25 5 Size 50 Ordering code for throttle
3Size 32 6 Size 63
. . Thread Ordering code
, , Nominalsize |throttle omm M6 V8 R3/8 R3S
With damping nose 0.5 ZM6 X 1-00.5| ZM8X 1-00.5 — —
0.6 ZM6X 1-00.6| ZM8 X 1-90.6 - —
10 1 S VE 10 / 0.7 ZM6X 1-00.7| ZM8X 1-00.7 — -
| / 1 AilE / 16 0.8 ZM6X1-00.8] ZM8X1-00.8 | R3/8-00.8 -
T 8 8 f 7 i/ 25 1 ZM6X1-01.0[ ZM8X1-®01.0 | R3/8-0L0 | R1/2-0L0
% | / % // 32 1.2 ZM6X1-01.2| ZM8X1-®12 | R3/8-01.2 R1/2-01.2
S 6 / / S 6 / f6 40 15 ZM6X1-d1.5| ZM8X1-P1.5 R3/8-®1.5 R1/2-®1.5
2 / / 2 Ll /L 50 18 ZM6X1-01.8] ZM8X1-0L8 | R3/8-GL8 | R1/2-OL8
s, / s, / 63 2 ZM6X1-®2.0[ ZM8X1-02.0 | R3/8-02.0 | R1/2-$2.0
s [T/ T/ o / 25 ZM6X 1-®2.5] ZM8X1-92.5 | R3/8-02.5 R1/2-92.5
o / / // 5 / // 3 ZM6X1-03.0| ZM8X1-®3.0 | R3/8-®3.0 R1/2-03.0
£ 2 / 22 vl 3.5 — ZM8X1-935 | R3/8-®3.5 R1/2-93.5
a8 / // =) > 4 — ZM8X1-94.0 | R3/8-04.0 R1/2-04.0
0 0 5 — — R3/8-05.0 R1/2-95.0
200 400 600 800 1000 1200 500 1000 15002500 3000 3500 6 — — R3/8-06.0 R1/2-06.0
Flow rate (L/min)=> Flow rate (L/min)— 8 — — — R1/2-®8.0
1Size 16 4 Size 40
2Size 25 5 Size 50
3Size 32 6 Size 63
0846 0847

www.hydrootvet.ru www.hydrootvet.ru



www.hydrootvet.ru

Valve fixing screw

Infernal hexagon according to GB/T70.1-10.9 grade (included in the supply list)

Size tCy%rétrol COVer | Dimension |Quantity| tTc;%QEeenMTEm) Size %%%trol COVer | Dimension | Quantity I(;%gazr;:ﬁm)
D M8X40 D M20X70
G M8X40 G M20X70
GW A,GW B M8X45 GW A,GW B M20X70
H1,H2 M8X40 H1,H2 M20X110
16 4 343 40 R,RF M20X70 4 373
KW A,KW B M8X45 KW A, KW B M20X70
W EA,WEB M8X45 W EA,WEB M20X70
W ECA M8Xx40 W ECA M20X70
WEMA,WEMB M8XT0 WEMA,WEMB| M20X70
D M12X50 D M20X 80
G M12X50 G M20X 80
GW A,GW B M12X50 GW A,GW B M20X 80
H1,H2 M12X50 H2 M20X 120
25 R,RF M2x50 | 4 95 50 R,RF M20X80 4 373
KW A, KW B M12X50 KW A,KW B M20X 80
WEA,WEB M12X50 WEA,W EB M20X 80
W ECA M12X50 W ECA M20X80
WEMA,WEM B | M12X50 WEMA,WEM B | M20X80
D,G,R,RF D,G,R,RF
GW A,GW B, GWA,GW B,
CVWEQICVWEEY M16X60 }F/VWEQY\};\/V\éBB’ M30X100
3D w ECA, ! 4 196 63 w éCA, ! 4 1315
W EMA,W EMB W EMA,W EMB
HH2 M16X80 H2 M30X150
0848

www.hydrootvet.ru

Size 16 to 63

control cover

Control cover "D" with remote control

size 16
size 25
size 32
size 40
size 50
size 63

control cover type

[t ot ] 7F[x] |
: ‘ sealing material
‘ No code= NBR seals
V= FKM seals
=16 (consult for other seals)
=25
=32 throttle at port
=40 ¢>l/l£)g1m
=50 X
=63 monitoring oil port
X= 70 to 79 series
(70 to 79 series installation and connection
size unchanged)

D1;T1
<1 | T
3 L] 4
o XL
= 9 X, 1
z (" U
T I I
14
1
o~
T } T
& | ©
!
- |
— !
D !
(]
—
3 2

1 Name plate for size 16/25/32
2 Name plate for size 40/50/63
3 Optional port X used as threaded connection port

If necessary, please provide specifications of the throttle
e.g. X12=throttle ® 1.2mm
Standard throttle see page 07/24

LFA.D.../F LFA. D.../FX**
\)S*
X % j 7 <~ 7 —
| | | |
X X |
B— % B— %
A A
Size 16 25 32 40 50 63
D1 G1/8 | G1/4| G1/4| G1/2 | G1/2 | G3/4
X ZM6 | ZM6 | ZM6 | ZM8 | ZM8 | R3/8
H1 27 30 35 60 68 82
H2 12 16 16 30 32 40
H3 15 20 25 32 34 50
H4 6 12 16 — — —
L1 65 85 100 125 | 140 | 180
L2 325 | 425 ] 50 72 80 90
Tl 8 12 12 14 14 16
Weight kgl 09 | 17 | 27 | 66 | 94 | 187

U Ordering code of throttle see page 07/24

0849

www.hydrootvet.ru



Александр Акулич

Александр Акулич

Александр Акулич


www.hydrootvet.ru

Control cover "H" with stroke limitation and remote control Control cover "H" with stroke limitation and remote control

Size 16 to 40 Size 50 to 63
T \
! 1 - LFA H - X CF | x
‘ LFA ‘ ‘ H T X ‘ { F ‘ X sealing material ‘ ‘ ‘ ‘ ‘ ‘ ‘ sealing material
No code= NBR seals
control cover ‘ No code= NBR seals control cover V= FKM seals
' V= FKM seals size 50 =50 consult for other seals
size 16 =16 (consult for other seals) size 63 =63 ( )
size 25 =25 throttle at port
size 32 =32 throttle at port control cover type ®1/10mm
size 40 =40 ®1/10mm . ~
- x** A adjusting screw
control cover type monitoring oil port 70 to 79 series =TX monitoring oil port
P 70 to 79 series installation and connection
adjusting element (size unchanged)
adjusting handle = - ) o
adjusting screw = = 70to 79 series If necessary, please provide specifications of the throttle
(70 to 79 series installation and connection e.g.X12=throttle ® 1.2mm
size unchanged) Standard throttle see page 07/24
) o Adjusting element "2"
05 If necessary, please provide specifications of the throttle 1AJF LFAD../F LFA. D.../FX**
e.g. X12=throttle ® 1.2mm A/
LFAD../F Standard throttle see page 07/24 ) ¥
DL ‘ : X
X>}<,,, ,,,,, Adjusting element "1" Adjusting element "2" | ! | X ¥ —1——1 X Ok 9—==1
[ Ll e ! <t | | | |
X size16t025  size32t040 o :;I** \ LT X X1
WF 1A/F - Frer— S B B
: CEYVER Y AJF il =
) A
0 : . A
el e
: Size 50 63
D1 G1/2 G3/4
| X Zm8 R3/8
16 25 2 40 | H1 110 125
G1/8 Gl1/4 Gl/4 G1/2 | H2 32 40
ZM6 | ZMe | ZM6 | M8 = AL ] H3 34 50
60 80 80 100 O R H4max 156 175
35 40 75 95 ~ L1 140 180
12 16 16 30 - L2 80 90
15 24 28 32 T1 14 16
90 95 120 160 ' 1A/F? 17 24
76 80 100 146 2A/F 55 65
65 85 100 125 2 1 Weight kg 15.8 30.2
L2 32.5 42.5 50 2
1 8 12 12 14 ) ,
/ AP 6 6 10 12 ) T)rderlnlghcode of throttle see page 07/24
3 2AJF o1 by 77 16 nternal hexagon
Weight kg 13 2.3 5.5 11.2 1 Name plate

1 Ordering code of throttle see page 07/24 2 Optional port X used as threaded connection port

1 Name plate for size 16/25/32 2 nternal hexagon
2 Name plate for size 40
3 Optional port X used as threaded connection port

www.hydrootvet.ru e o www.hydrootvet.ru


Александр Акулич

Александр Акулич

Александр Акулич

Александр Акулич


www.hydrootvet.ru

Control cover "G" with integrated shuttle valve

Control cover "R" and "RF" with integrated directional seat valve

Size 16 to 63 Size25t0 63
T T
\ \ LFA - 7X L F
‘ LFA ‘ ‘ G T ‘ 1 ‘ ‘ ‘ ‘ : ‘ sealing material
control cover ‘ No code= NBR seals
) . ) _ V= FKM seals
control cover sealing material size 25 =25
No code= NBR seals size 32 -3 (consultfor otherseals)
size 16 =16 V= FKM seals size 40 -40
size 25 =25 (consult for other seals) size 50 =50 throttle at (Fi)hcirtIOmm
size 32 =32 size 63 =63 X a
size 40 =40
size 50 =50 - control cover type
size 63 =63 %= o ) 70to79 series Directional seat valve without spring return =R
(70 to 79 series installation and connection Directional seat valve with spring retdfn =RF ) o
control cover type size unchanged) If necessary, please provide specifications
70to 79 series =7X of the throttle
70 to 79 series installation and.connection =
LFAG .. LFAG... LFAG .. éize unchanged) ;ga'nﬁ;r dttr]hr:)cftttl[%eqs)eléz;)naqge 01/
05 size 16 to 32 size 40 size 50 and 63
r——"" r———71 r———7
3=, b rO by Z1 e*‘@‘m“ \L”"** z2
o o || ®z XD ! zZ  xil |
Z1 X 122 Z1i Xi 122 21 Xl 22 LFAR... LFAR.. LFARF... LFA.RF...
B B B size 25t0 50 size 63 size 25 to 50 size 63
— 1 Z = = Z T
A A A r B mqez@]q r{@}ﬁ | 71 wez@;w
IZANING v : 1Y VARG : LY
o1 L XeER ) L XeE gy L KR : )
L4 D3:14 , se | 16 75 o 0 = 3 71 Xé%f 71 Xé Y 71l Xé% Y 71l xé
<« | i | m D1? | 12 | ®15 | ®2.0 M6 | M8X1 | M8X1 A A A
T ‘ ; /\ ; ‘ D2 | ®1.2 | ®L5 | ®20 M6 | M8X1 | M8X1 S T G o m % 3
- \ D3 | — | — | = =cl20612 A e R
=N v ”I’i HL | 35 | 30 | 35 60 | 68 | 8 Arearatio —ZL =2 A ZM6 | ZM6 | ZM§ | ZM8 | ZM8
P Mo\ T Ha | 17 | 17 | 215 |30 | 32 | 4 x ! Hl 40 | S0 | 60 | 68 | &
T ‘ : T T H2 20 26 30 34 40
/ H3 15 24 28 32 34 50 J N N 03 2 28 ED) 34 50
4 D2 Ha | e | 1201 16 L W - T ( A R4 155 26 | 30 | 34 | 40
> HO | S o — 4 ) 32 | 40 i crt m[s} 85 | 100 | 125 | 140 | 180
LT 65 [ 85 | 1000 125 | 140 | 180 e H MM 5 5 50 | 6571 70 [ 785
1 L2 [365] 455| 50 | 625 | 70 [ 90 201 p2¢ R 3 | 3 4 | 4 N
ol L5 13 D3;14 3 N — — — | 7 | e -
L1/2 2 RF | 18 [ 18 | 25 | 25 | 16
e ! 4 A — — — 72 90 Weight kg 21 | 36 | 67| 95 | 183
@ T»")Lfﬂ b 5 | 45 | 4 1 —_ | s 4 ~ | Y 5 | o
_ " \\ /AN r%z1,‘ﬁ>i 1 Maximum working pressure at port Y 5 bar
0 b A W | L D2 A A 5, 20rdering code of throttle see page 07/24
N ‘ =6 1Name plate for size 16/25/32 — ﬁ%&(i#,,,l; ) 1 Name plate for size 16/25/32
- Var) C G\ 2 Name plate for size 40/50/63 0O : p .
DT ) ] ) \ 2 Name plate for size 40/50/63
\S 5g N 3 Optional ports Z1 and 72 used as threaded connection ports (A e\ . ) .
i for size 25/32/50/63 O D) | 3 Optional port Z1 used as threaded connection port for size 25 to 63
4 Shuttle valve T 4 Optional port Z1 used as threaded connection port for size 25 to 63
2 5 D2 for size 16 to 40 5 9 5 D1 for size 25 to 50
6 D1 for size 63
0852 0853

www.hydrootvet.ru www.hydrootvet.ru


Александр Акулич

Александр Акулич

Александр Акулич

Александр Акулич


www.hydrootvet.ru
Control cover "WEA" and "WEB" for set-up of a directional spool or diretional seat valve

Control cover "WEA" and "WEB" for set-up of a directional spool or diretional seat valve

Direction spool valve
model: 4WE10D

Size 63
[tale3] x| cac[ee]e ] |
sealing material
control cover No code= NBR seals
size V= FKM seals
(consult for otherseals)
control cover type
norma[[y closed =WEA control throttleatport
_ type ®1/10mm
normally open WEB WEA (A% | TPa | T4
WEB [B*A[P A T4
TX= 70 to 79 series
(70 to79 series installation and connection size unchanged)
A If necessary, please provide specifications of the throttle
e.g. X12=throttle ® 1.2mm
Standard throttle see page 07/24
LFAWEA. .. LFA.WEB...

Direction spool valve
model: 4WE10D

Size 16 to 50
‘ LFA ‘ ’ I 7 LA e | pre | T ‘ ' '
! ! sealing material
No code= NBR seals
control cover V= FKM seals
size 16 =16 (consult for other seals)
size 25 =25
: _ control throttle at port
size 32 =32 type ®1/10mm
size 40 =40 WEA — [A"4 | [PP4] T4
size 50 =50 WEB [B*A[P"A ] T74
control cover type
normally closed =WEA _ )
normally open ~WEB X= o ' ' ‘70 to 79 series
(70 to 79 series installation and connection size unchanged)
4 |f necessary, please provide specifications of the throttle
05 e.g. X12=throttle ® 1.2mm
Standard throttle see page 07/24
LFA.WEA... LFA.WEB... LFA.WEA... LFA.WEB...
size 16 to 32 size 16 to 32 size 40 to 50 size 40 to 50
Direction spool valve Direction spoolvalve  Direction spoolvalve  Direction spool valve
model: 4WE6D model: 4WE6D model: 4WEED model: 4WEED
AlTB Ar B AlTB 1 A TR
X W arA XTI, A XI W arA X[ M
128 T PIIT ) T
p** )()(‘[if)‘;tﬁ/y: pPFRIOKT B ‘ p**)()g'[j’?‘;(ﬁ/gjtfi PO 5B

4 AT Size 16 | 25 | 32 [ 40 [ 50
¥ D1 — [ - [caiplep
ZMb w H1 40 | 40 | 50 | 60 | 68
3Dl;lthS i E 2 — | — [ = [ 30 [ 3
N - H3 15 | 24 | 28 | 32 | 34
7 oy BUAT L1 65 | 85 | 100 | 125 | 140
T Fige—— 8k ..
3 TINDL14 5 2 80 | 85 | 100 | 125 | 140
o K" L3 — | =1 =178
y 4 4 — [ — 1 =153 %0
- ) g L5 17 | 27 | 345 | 47 | 545
~ L2 1 L6 7 [ 235] 31 435 51
@ @) M Reepesy | ZM6 | ZM6 | ZM6 | ZM6 | ZM6
P i i | WO H
- (:1 7‘1_[8 Fj’ i 1= - Weightkg | 15 | 21| 36| 66 | 93
e ¥ ‘ Y Ordering code of throttle see page 07/24
a3 @) Wé) S 1 Name plate for gize 16/25/32
16l 405 2 Nameplate for size 40/50

3 Optional ports X and Y used as threaded connection ports
for size 40/50

4 Direction spool valve 4WE6D and screw

M5x50-10.9 GB T70.1 must be ordered separately

www.hydrootvet.ru o

X i
|
| b\
’ PLT bi aE[X;J:T |
PIOKT AT POOKTIXNEBT
1 T S B A
X\ ! \Y X‘ \Y
B B
A A
N "
ZM8 ’T‘ﬁ :T, %
G214 i |
N Bee e 8
[ee] O( ’’’’’’’ ﬂ
¥ ] G1/2;14 o =
o
Y9}
— 4
- e 1
1 Name plate
AX*B** 7M8 2 Optional ports X and Y used as threaded connection ports
T** p** 3 Direction spool valve 4WE10D and screw Méx40-10.9 GB

T70.1 must be ordered separately
Weight (kg): 18.6

! Ordering code of throttle see page 07/24

o www.hydrootvet.ru


Александр Акулич

Александр Акулич

Александр Акулич


www.hydrootvet.ru

Control cover "WEMA" and "WEMB" for set-up of a directional spool or diretional seat valve Control cover "WEMA" and "WEMB" for set-up of a directional spool or diretional seat valve

Size 16 to 50 Size 63 . . :
[tra] [ o[ e [T]F L] [ i ¢ [ 4 4
! ! . . sealing material
sealing material _
_ No code= NBR seals
No code= NBR seals -
control cover V= FKM seals control cover V= FKM seals
-] ( It for oth ls) - (cansult for other seals)
size 16 =16 consult for other seals size
ize 2 =2 h throttle at port
z:iz 32 :32 tq;f}tll%?;?m control cover type ®1/10mm
) B Pl T 4 normally closed =WEMA PTAl T 4 F7°4
size 40 =40 normally open =WEMB
size 50 =50
control cover type TX= 70 to 79 series X= 70 to 79 series
normally closed =WEMA (70 to 79 series installation and connection size unchanged) (70'to 79 seriesinstallation and connection size unchanged)
normally open ~ =WEMB ) e
A If necessary, please provide specifications of the throttle Alf necessary, please provide specifications of the throttle
e.g. X12=throttle ® 1.2mm e.g. X12= throttle ® 1.2mm
Standard throttle see page 07/24 Standard throttle see page 07/24
05 LFAWEMA... LFAWEMB... LFAWEMA... LFAWEMB.. LA EVAY . 5 3
size 16 10 32 size 16 0 32 size 40 to 50 size 40 to 50 Direction spool valve
Direction spoolvalve  Direction spool valve  Direction spoolvalve  Direction spool valve model: 4WE10D ﬁ?\::m
model: 4WE6D model: 4WE6D model: 4WE6D model: 4WE6D 1~ T AB —— it A !
R — —— |az[ﬁﬁ}Nb Gl/2;14 \BA%r |
- = ALBT 1T AR T AB ] I~ A18 7 2 2 LBA A —— Gl/2:14
IazfX]j:PNb az{X]H}Nb |azfXﬂ]:p‘Nb |aE£X1H}Nb Pl = | i \ ——==)
— = —PIT— 44 _1Z —PITT—1—, l—L—,—E T— 4+ 4 T T—1— o Fqohad t ] ~ Y
Fp T T yi(P,‘ 0 Ty P 0 ™ PPy ‘ ) . — — _v‘(F** _E{,z 0083 mirg grl
| = e 1 fra TS T H X,‘_* S| | | q i
. [P | - i + ‘ i ; I | X171 721 Y1
171t @ 2. 1711 @ 72TV X Z1 @ 221 Vi Xz1 @ 2"V : @ 3
B B B B
A A A A A 4 4
Size 16 25 32 40 50
ai o |5 | o 66162 Gééz LFAWEMB... 180 G1/2,14 ,
Direction spool valve < 100
H2 — | -/ — /30 | 32 model: 4AWE10D —. s
H3 5 |24 | 8323} [ZNYARSEZN) L
L1 65 | 85 | 100 | 1251 140 I AIB N\
L2 80 | 85 | 100 | 125 | 140 ' aﬂwb ! G M %fa*j!r =
E — | - [ = [ 3|60 i SN S e L =
T T ! H--pr*1d —_
L4 L | 270[ 345 47 | 545 rals O 2 7N Y == TN e E
5 7. [235] 31 432.5 gé i': . A (N ZeeR N
*|:6 N > — — I 2l B 2. <~ 78 G1/2;14 2
PF,,DT* M6 M6 | ZM6 M6 | ZM6 A 1 63 |.54
F* 23 2.1 36 6.6 93
1) .
: A Ordering code of throttle see page 07/24 pre T e ‘ 7M8 ‘
- 1 Name plate for size 16/25/32 .
A\ e 2 Name plate for size 40/50 'Ordering code of throttle see page 07/24
LO);
e 5 E o 32 Optional ports X and Y used as threaded connection ports
ol ¥ for size 40/50 1 Name plate
S )J “S 4 Plug ZM6 for model: . WEMB... 2 Optional ports X/Y/Z1/Z2 used as threaded connection ports
= (port B with or without throttle F * *, port A with plug) 3 Plug ZM8 for model: .WEMB... (port B with or without throttle F * *, port A with plug)
N 2 B3 G1/2;14 5 Plug ZM6 for model: .WEMA... 4 Plug ZM8 for model: .WEMA... (port A with or without throttle F * *, port B with plug)
151|405 (port Awith or without throttle F * *, port B with plug) 5 Direction spool valve 4WE10D and screw M6x40-10.9 GB T70.1 must be ordered separately
6 Direction spool valve 4WE6D and screw M5x50-10.9 GB Weight (kg): 18.6
T70.1 must be ordered separately
0856 0857

www.hydrootvet.ru www.hydrootvet.ru


Александр Акулич

Александр Акулич

Александр Акулич

Александр Акулич


www.hydrootvet.ru

Control cover "WECA" for set-up of a directional spool valve

Size 16 to 50
‘ LFA ‘ ‘WECA:* 7X ‘ /: A g pre | e ‘
sealing material
control cover No code= NBR seals
I T EE— V= FKM seals
size 16 =16
<ize 25 5 (consult for other seals)
size 32 =32 throttle at port
size 40 =40 ®1/10mm
size 50 =50 A"X [BZA P4 [TA
control cover type
™= 70 to 79 series
(70 to 79 series installation and connection size unchanged)

Alf necessary, please provide specifications of the throttle

e.g. X12=throttle ® 1.2mm
Standard throttle see page 07/24

LFA..WECA... LFA..WECA...
4 ﬁ#E LFAI6WECA... size 25 and 32 size 40 and 50
M6 : Direction spool valve Direction spoolvalve Direction spool valve
i il E model: 3WEGA model: 3WEGA model: 3WEGA
: I [ttt b P N N st R TR N I it 1
N@N‘Q\ il e A B oA
azizp[ Wb az‘ﬂiﬂ”b aczi g b
WATIBTF PO T WAF n(B"P' T 71 ZAA")}AB"P")A)Lj’j:g
i — | | |
71 'X 22 Y 71 X v X 71 X Y
B B B
02 . A A A
L7 .
DL14, “”l
o A AL Size. | 16 [ 25 [ 32 |40 | 50
D e g - D1 — | = = |e12]c12
IR s Nl = = P H1 40 | 40,50 | 60 | o8
o B e ol = H2 — LT =130 | 32
N i <l m
S| HAW—HD H3 15 24 28 32 34
TSI o H4 — -1 —=T3 [3
A0S L1 | 65 | 85 | 100 | 125 | 140
L2 80 85 | 100 | 125 | 140
L3 — — — 53 60
L4 17 27 | 345 | 47 | 545
L5 7 235| 31 |435] 51
1 Name plate for size 16/25/32 6 — _ — 6251 710
2 Name plate for size 40/50 L7 — — — 72 80
3 Optional ports X/Y/Z1 used as threaded A*B**
connection ports for'size 40 and 50 prory | ZME) ZME| ZM6| ZM6] ZM6
4 Direction spool valve 3WE6A and screw Weightkg | 15 | 2.1 | 36 | 66 | 93

M5x50-10.9 GB T70.1 must be ordered separately

www.hydrootvet.ru

U Ordering code of throttle see page 07/24

0858

Control cover "WECA" for set-up of a directional spool valve

Size 63

[ LFA | 63 [WECAT 7x |

o AT

pr*

T**

control cover

size

control cover type

70 to 79 series

(70 to 79 series installation and
connection size unchanged)

=T7X

sealing material

No code= NBR seals
V= FKM seals
(consult for otherseals)

throttle at port
®1/10mm

ATH [B”A P4 [TA

A If necessary, please provide specifications of the throttle

e.g. X12=throttle® 1.2mm
Standard throttle see page 07/24

LFA63WECA...
Direction spool valve
model: 3WEL0A

ZM6
A - - A |
[ A B
A
=R U |
! I
B (A ) "(P** T
-y 2 :
oo "
xTz1 Y\

B

A

AR
™

P o) 8

Y Ordering code of throttle see page 07/24

1 Name plate

261/2;14

2 Optional ports X/Y/Z21/Z2 used as threaded

connection ports

3 Direction spool valve 3WE10A and screw
M6x40-10.9 GB T70.1 must be ordered separately

0859

j G1/2; 14

82
140,

50

180

54

www.hydrootvet.ru


Александр Акулич

Александр Акулич

Александр Акулич

Александр Акулич


www.hydrootvet.ru

Control cover "GWA" and "GWB" for set-up of a directional spool or directional seat valve

Control cover "GWA" and "GWB" for set-up of a directional spool or directional seat valve

Size 16 to 50 Size 63 : :
LA T A ] pe | T
[tra] [ [ ar]e]p]T | ' ‘ | | ] ] | ' '
‘ ‘ sealing material sealing material
No code= NBR seals No code= NBR seals
control cover V= FKM seals control cover V= FKM seals
size 16 -16 (consult for other seals) sizei (consult for other seals)
size 25 =25 control throttle at port
size 32 =32 type ®1/10mm control cover type throttle at port
size 40 ~40 GWA A4 } } P4 } T4 normally closed =GWA ®1/10mm
GWB B¥A|PA | T A = %, Vi * %
size 50 =50 normally open GwB AH B AP A TR
control cover type 70 to 79 series =7X
normally closed =GWA TX= 70 to 79 series (70 to 79 series installation and
normally open =GWB (70 to 79 series installation and connection size unchanged) connection size unchanged)
A lf necessary, please provide specifications of the throttle A If necessary, please provide specifications of the throttle
e.g. X12=throttle ® 1.2mm LFA.63GWA... e.g. X12= throttle ® 1.2mm
Standard throttle see page 07/24 Direction spool valve Standard throttle see page 07/24
LFA.GWA... LFA.GWB... LFA.GWA... LFA.GWB.. MgV F 10§
size 16 to 32 size 16 to 32 size 40 and 50 size 40 and 50 AFTB ]
Direction spoolvalve  Direction spoolvalve  Direction spoolvalve  Direction spool valve wab BN
model: 4WE6D model: 4WE6D model: 4AWE6D model: 4WE6D I
ATTE ] AT B~ ATTE ] A B Z1%- :@M )iLL\(’*’ Y M8
o
X A i X o~ A ;
PHOYOCT* A P NOCT* B P )NO(T KA P YO(T B> Z1 X Y
= 1] i W e ] : 61/214
v R Y pal— Y ]
B B A S Ot ;
)
A A LFA.63GWB...
Size 16 | 25 | 32 | 400.] 50 D‘redCtliPE \Aj"Edl% Ealve <
D1 — — — G612 612 modet AW £ 4 4
H1 40 40 50 60 68 E[Xﬂj” i
H2 — — - 30 32 I
D114 \ .
428 H3 15 | 24 | 28 | 32| 34 FOOLTIET 180 Gl/2.14)
H4 17 17 21.5 30 32 z1 e*r*@w‘ | ! < -8
~ L1 65 85 100 125 140 T U iy M8
71 X Y AANZ1EE R
= e T e : CARS -8
4
B 4 ' : 53 60 | fl “4d TF’
05 — T Tes| w A TR e =
J— J— p— . —
SN A ==
L6 7 23.5 31 43.5 51 N & @
L2 D114 L7 17 27 34.5 47 54.5
1 L5 | ——3 AR 54
~ epesy | ZM6 | ZM6 | ZM6 | ZM6 | ZM6 1 i
o~ ZM6 il 1 Name plate B4
f}r‘mt;’f @ Weight kg 1.5 2.1 3.6 6.6 9.3 2 Optional ports Y and Z1 used as threaded connection ports for size 40/50
Ly For® P;r#-‘ ) B 1 Name plate for size 16/25/32 3 Plug ZM8 for model: ..GWB...(port A with plug only) -
— %'( ;‘@B‘L;w ’ty =37 2 Name plate for size 40/50 4 Plug ZM8 for model: .GWA...(port B with plug only) A*"B 7M8
= ; ) o Tk
L. TS 3 Optional ports Y and Z1 used as threaded connection ports for 5 Shuttle valve P T**1)
2 44 ) 35 size 40/50 irecti
& S 6 Direction spool valve 4WE10D and screw M5x50-10.9 GB ]
4 Shuttle valve T70.1 must be ordered separately Y0rdering code of throttle see page 07/24
D) L6 |40.5 5 Plug ZM6 for model: ..GWA...(port B with plug only) Weight (kg): 18.6

6 Plug ZM6 for model: ..GWB...(port A with plug only)

7 Direction spool valve 4WE6D and screw M5x50-10.9 GB
T70.1 must be ordered separately

www.hydrootvet.ru e e www.hydrootvet.ru



www.hydrootvet.ru

Control cover "KWA" and "KWB" for set-up of a directional spool or directional seat valve

Control cover "KWA" and "KWB" for set-up of a directional spool or directional seat valve

Size 16 to 50 Model ..KWA/..KWB..( size 16 to 50)
(A ] [ oAl ]

sealing material

control cover No code= NBR seals

P ra—— V= FKM seals i

size 16 =16 (consult for other seals)

size 25 =25

size 32 =32 control throttle at port =

size 40 =40 type 2 L o

- _ KWA AYA

size 50 =50 KWB | B4

control cover type P

normally closed =KWA .

normally open =KWB TX= 70 to 79 series 4 D114 o

(70to 79 series installation and connection size unchanged) w
A If necessary, please provide specifications of the throttle 1
05 e.g. X12=throttle ® 1.2mm ~
Standard throttle see page 07/24
AWE6D 4WE6D 4
(Only for LFA.KWA...) (Only for LFA.KWA...)

)i‘
%w
o>
= @)
S|
L1
32.5
|
31

PLIT
PT A PT A PT A 9 R
DB LT P L AT 21fq--BB LADI)
X g3+ oo T EN @S
X Y alx! Y AN e
S - B B —
A A Size 16 75 32 40 50 1 Name plate for size 16/25/32
LFAL6KWA... LFAKWA.« LFA.KWA... D1 — | — | — |G1/2|G1/2| 2Nameplate forsize 40/50
(see above model 4WE6D...) size 25 and 32 size 40 and 50 H1 40 | 40 | 50 60 | 68 | 3optional portsYand Z1 used as threaded connection ports for size 40/50
(see above model 4WE6D...) (see above model 4WE6D...) H2 17 | 17 | 215 30 | 32 | 4PlugZMé for model ..KWB...(port A with plug only)
H3 15 24 28 32 34 5 Plug ZM6 for model ..KWA...(port B with plug only)
H4 — — — 30 | 32
P > i 3 — 3 H5 — | — | = | 3050 i;buttlévalve [ valve 4WESD and M5x50-10.9 GB T70.1 must b
P‘. L B** )}( P L BT”)‘( irection spootvalve ana screw XoU-10. .1 must be
(,,,,@3@11 F""q?@ll L1 65 | 85 | 100 | 125 [140 | o S
XL @® | | o™ i | P. L2 80 85 | 100 | 125 | 140
71 X! Y 21 X' Y 71 X! 'y 3 365 | 455| 50 | 62.5| 72
B L4 — [ — [ —T153]%0
B~ va B v 5 17 | 27 | 345 47 | 545
L6 7 235| 31 |435| 51
A A A L7 — | — | — |625] 70
LFAI6KWB... L_FA-KWB-.- L_FA.KWB.A. A**B**) | ZM6| ZM6| ZM6|ZM6| ZM 6
(see above model 4WE6D...) size 25 and 32 size 40 and 50 Weightkg | 15| 21| 36| 6.6 | 9.3
(see above model 4WE6D...) (see above model 4WE6D...)

YOrdering code of throttle see page 07/24

www.hydrootvet.ru o e www.hydrootvet.ru


Александр Акулич

Александр Акулич


www.hydrootvet.ru

Control cover "KWA" and "KWB" for set-up of a directional spool or diretional seat valve

Size 63

[LFa ] 63 ] x|

control cover

size

control cover type

normally closed =KWA
normally open =KWB
LFAG3KWA... %=

Direction spool valve

/: A B | e ‘

sealing material
No code= NBR seals
V= FKM seals
(consult for other seals)

control throttle at port

type ®1/10mm

KWA AL

KWB \ B4
70to 79 series

(70to 79 series installation and connection size unchanged)

model: 4WE10D

A |f necessary, please provide specifications of the throttle

ATB -
e.g. X12=throttle ® 1.2mm
aﬁXJ Mb Standard throttle see page 07/24
P.. Ak
Z1 . Y
[ B9
z1 X v
B M8
A 5
LFAG3KWB... S
Direction spool valve ‘Qr‘l
model: 4WE10D
3
AT B
a7 XL W 4
PT
P B** )
VAN N ! Y .
e S 61/2:14,
FARNDS Y
<
5 7
\
A
=)
PRI
(e]
O | |
Y0rdering code of throttle see page 07/24 @ g ©
63 |54

1 Name plate

2 Optional ports Y and Z1 used as threaded connection ports for size 40/50

3 Plug for model ..KWB...
4 Plug for model ..KWA...
5 Shuttle valve

—

6 Direction spool valve 4WE10D and screw M6x40-10.9 GB T70.1 must be ordered separately

Weight (kg): 18.6

www.hydrootvet.ru

0864

www.hydrootvet.ru


Александр Акулич




